EE 3340
Homework Problem #032

Use LTspice to determine the input impedance of the circuit shown below in polar form at
w =120 rad/s. Show your work.
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~-~ AC Analysis ~---

frequency: 60

V(1) : mag:
v(2): mag:
V(3): mag:
I(L2): mag:
I(L1): mag:
I(I): mag:
I(R2): mag:
I(R1): mag:

Lﬁﬁn

_ Hz
188.583 phase: 88 4808°

88.527 phase: 922°
3.99977 phase: -179 392°
0.499972 phase: -179.392°

1 phase: 0°
1 phase: o°
0.499972 phase: =-179.392¢°
1 phase: o°

voltage
voltage
voltage
device current
device current
device current
device current
device current

Zin ®  188.6 [88.48°
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